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R54E R64E
1A 2B 38 48 58 6 1A 8A 9A 1A 1A 12B 1R
X 4 R5%E R64E
7 1B 2B 38 48 5B 68R 1A 8A 9B 10A 1A 128 18
3AAREDLE | -332 -169 2.1 50 7.8 5.7 79 115 5.7 9.9 07 -07 -115
RENELBY -134 -149 -79 -51 -71 64 -29 -72 43 -43 -73 -12 -116
3NAKRDOREL | -42 49 -07 137 8.5 14 101 8.6 29 -43 -65 65 50
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1A 2B 38 48 5B 6A 7A 8A 9B 10B 1A 128 1B
X PIN R54F R64E
7 1A 2B 38 48 5B 6B 7A 8B 9B 108 118 12B 1A
3hARIEDLE | 359 -273 -77 -52 51 -26 -26 -9.1 3.9 90 117 39 -103
REDELERY -143 -145 -78 -105 -130 -130 -79 -143 -66 -52 -53 -53 —11.7
3HALDREL | -13 39 -13 104 5.1 00 117 182 78 -51 -78 -132 -38
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3NBRTEDLE | -375 00 250 -125 00 125 375 125 -125 -125 125 00 -250
BEQDELRKRY 00 00 00 125 00 00 00 00 00 00 00 00 0.0
3HAKMEBEL | -250 -125 -375 250 125 125 125 125 -125 125 125 0.0 0.0
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3HARIEDLE | -455 -364 -200 -4.8 -4.38 143 375 250 -9.5 -48 -10.5 -9.5 -9.5
REOELRBY -273 -273 -150 -95 -95 00 00 -50 ~-190 -190 -211 -48 -95
3HAKEDREL | -455 -136 -10.0 95 -4.38 -9.5 12.5 0.0 -4.38 -95 -158 0.0 438
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HEDESKRY =57 -114 -5.9 6.1 5.9 29 5.9 59 8.8 59 -59 -147 -156
BHAKXDREL 20.0 229 14.7 21.2 23.5 8.8 14.7 -8.8 0.0 -2.9 -2.9 29 28.1
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